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The speed, v m s–1, of a train at time t seconds is given by

v = (1.2t – 1), 0  t  30.

The following table shows the speed of the train at 5 second intervals.

t 0 5 10 15 20 25 30

v 0 1.22 2.28 6.11

(a) Complete the table, giving the values of v to 2 decimal places.
(3)

The distance, s metres, travelled by the train in 30 seconds is given by

(b) Use the trapezium rule, with all the values from your table, to estimate the value of s.
(3)

(Total 6 marks)

Question 1
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(Total 8 marks)

(a) In the space provided, sketch the graph of y = 3x, x  R, showing the coordinates of  
the point at which the graph meets the y-axis.

(2)

(b) Complete the table, giving the values of 3x to 3 decimal places.

(2)

(4)

(c) Use the trapezium rule, with all the values from your table, to find an approximation
1

0
for the value of  3x dx.

Question 2
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Figure 1

. The finite region RThe curve shown in Figure 1 has equation ,  
bounded by the curve and the x-axis is shown shaded in Figure 1.

and , giving(a) Complete the table below with the values of y corresponding to x =  
your answers to 5 decimal places.

x 0

y 0 8.87207 0

R

(Total 6 marks)

(2)

(b) Use the trapezium rule, with all the values in the completed table, to obtain an estimate  
for the area of the region R. Give your answer to 4 decimal places.

(4)

Question 3
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x 0 0.5 1 1.5 2

y 2.646 3.630

y   (5x   2)

(a) Complete the table below, giving the values of y to 3 decimal places.

(Total 6 marks)

(2)

(b) Use the trapezium rule, with all the values of y from your table, to find an approximation
for the value of

(4)


2

0
 (5  2) dx .x

Question 4



Head to savemyexams.co.uk for more awesome resources

6

2

Figure 1 shows part of the curve with equation y  e0.5 x . The finite region R, shown
shaded in Figure 1, is bounded by the curve, the x-axis, the y-axis and the line x = 2.

(a) Complete the table with the values of y corresponding to x = 0.8 and x = 1.6.

x 0 0.4 0.8 1.2 1.6 2

y e0 e0.08 e0.72 e2

y

x

1

O 2

Figure 1

R

(Total 4 marks)

(1)

(b) Use the trapezium rule with all the values in the table to find an approximate value  
for the area of R, giving your answer to 4 significant figures.

(3)

Question 5
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y  (10x  x2 ) .

(a) Complete the table below, giving the values of y to 2 decimal places.

x 1 1.4 1.8 2.2 2.6 3

y 3 3.47 4.39

(Total 6 marks)

(2)

(b) Use the trapezium rule, with all the values of y from your table, to find an approximation

for the value of  2

1

3
 (10x  x ) dx.

(4)

Question 6


